Broken Spreadsheet I	T038 sample solution


Solution:


Fill column A from A1 to A21 with the numbers from -10 to 10 using an increment of 1.


Put the number 55 in cell B1.


Define the value of B2 to be B1 + A1.


Copy this formula to cells B3 to B21.


Plot column B on the vertical axis and column A on the horizontal axis.


The reason this works is that the function is quadratic. Suppose 


	�EMBED Equation.3���.


It follows that 


	�EMBED Equation.3���


In the present case a = b = 0.5 and (x = 1.
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